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AMI Day 6: Geometry
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L . What is the scale factor for
the triangles below?
Find the measure of

LARD.
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{ 7 Find the cosine of £ B.
- measure of acute £A when tan A = (1,608”
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Find the value of y. Round
1o the nearest hundredth, if necessary.

- ) ' 13 ¢m

g8cm

©

X Find the scale factor of
WNOP to ORST, given that MNOP ~ ORST.

R M0 N
By 30
g o R 5
T 23 2 =)
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@ [n the diagrain, % = -é—g

Find the length of AL.

B 15 D
B 15 VAN
€ 17.5 B
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B 283

E c 10 A
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(\_\L) What value of a would
make lines v and ¥ paraliel”

t
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Solve for X

@j Use the triangle below.
y -
< Chooss the correct ralio 1o find tan B.
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Find the value of ¥.

—— e

ST
tind the area of the figure.

Round to the nearest hundr
SRS lord )
A> 7937 m?

edth, if necessary.
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M

3361lm?
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L 75m?
D> 570m?

B> 4074 m?
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Find the value of x that
makes the triangle a right triangle.

u Points A(—3, 2} and

B(~6, —8) are the initial and terminal points
of vector B . What is its magnitude?

B G B (0.6 L 104
o106 E 108

Q )
-~ : 4J 3
T Find the measure of 1.

5

6 The table below shows the sum of the interior angle

measures of certain polygons. According to the
information in the table, which is the best prediction
of the sum of the interior angle measures in an 11-gon?

180°

360°

540°
720°




24 Forthe circle below, which expression can be used to
find the area of the shaded region?

l " 4207

16T G %'167‘\' H

1 2.
3 C 64T j 3 bAT
25 The volume of a cone is given by the formula V = %mzh.

What is the volume of the cone below, to the nearest
whole number? Use 3.14 for .

26 The radius of the circle below is 5 centimeters. Line
segment AB is a diameter of the circle. What is the
value of x to the nearest tenth?

p= /4.5 cm

5¢m



AMI Day 8: Geometry

28 A triangle undergoes an entargement as shown in the

diagram below. What is x?

19 Which shows a net for the figure shown below?

many meters per hour is this?

A 97m € 9660m
8 966m i} 96600m

184 plane intersects a ”ght cylinder parallel tooneofthe
cylinder's bases. What is the shape of the intersection?

F circle G rectangle H ellipse J trapezoid

->
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| 29 For the right triangie shown below, what is the tangent
20 Which figure has the views shown? \

of £ A?
Top Front Side A

\' 5¢cm

\ 3em

'i c 4dem B

F H ,

A tanA=7 B tanAzé

1 C tanA=2 D tanAz%

Eleanor has a garden in the shape of a right isosc-elveysmm
triangle. Two sides of the triangle measure 10 feet long
G J | each. What is the length of the third side?

| o

101t

27, Based on the information in the diagram, which triangle
congruence property can be used to justify that AABC = AFGH?

A SSS (If three sides of one triangle are congruent to three sides of
another triangle, then the triangles are congruent.) _

B SAS (If two sides and the included angle of one triangle are congruent
to two sides and the included angle of another triangle, then the
triangles are congruent.)

C ASA (if two angles and the included side of one triangle are congruent
to two angles and the included side of another triangle, then the
triangles are congruent.)

D AAS (If two angles and a side of one triangle are congruent to two
angles and a side of another triangle, then the triangles are congruent).
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23 The figure below is a net 6fé 'rrecni.:;ngular p;i"sm witha
length of 14 yards, a width of 12 yards, and a height of 4 yards. ,*

- 150, ‘: * “Assha

I AMI Day 9: Geometry

a‘ A scientist has two similar cylindrical beakers. Beaker A

has radius 6 centimeters. Beaker B has radius 3 centimeters.
Which answer correctly completes the statement?

6 cm 3cm

__times the volume of Beaker B.

19 The map below shows where four of
‘! Nahimana’s friends live.

B LA
L Jash

10in.

| S ] gdenny

Which friend lives at the point (--4, 2)?

- E 2ft

P ; 11 ft

12 yd \_/
18 Which picture below is an obtuse isosceles triangle? G 33"
108t
F , H 377 N18% =
30 o e
65m B5m 67cm
w , N L N
40m
67cm 97 33

11in.

What is the volume of the cylinder shown below?



¢,
\ The perimeter of a rectangle is 28 in. IFits length is 9 in., find its
area.

A boy is mowing a rectangular Jawn 40 ft. long and 30 ft. wide. He

e has cut all of it except for a rectangle that is 20 ft. long and 15 L.
A wide. What fractional part of the lawn remains uncut?
1 7 1 ,
A) — B) — QO — D) - E) NOTA
4 40 240 2

20 What three-dimensiona! figure can be
made from the net shown?

Triangular pyramid
Cube
Rectangular pyramid

oy ™

Rectangular prism

In the diagram at the right. mLBCE is 1447, Find mZECD.

AN »  Give the most specific name for the polvgon with vertices (5.-2},
o (4.2). (0.3}, and (1.-1)

A) parallelogram B) rectangle
C) souare D) rhombus

E} quadrilateral

Find the value of y.

(2y-208

- - 200 .
A) 50 Bl 5 C) 40 D) Y k) 45
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U Awvi Day 10: Geometry

38, Find the value of x.

23

39. Find the value of x. (3%-92

43, Which of these are a pair of same-side interior angles?

Al 7.3 B 2.3 L3 D)3 3

22. In the figure to the right, the circle is centered at the origin and
passes through peint P (0, -3). Which of the following points does T

it also pass through? H— : 4
A 33) B) N2l Q2.6 d
D) (1.5 1.3) By (3.4
24, Find the geometric mean between 8 and 4
A V2 B % C) V2 D) 2 E) 16
2 2



For problems 48-50:

Fill-in the blanks for a two-column proof of the thecren:
The two acute angles of a right triangle are complementary.

Given: In AABC, ZB is a right angle

Prove: ZA and ZC are complementary

Statements:

I In AABC. £B is aright angle.
2. mZB = 90°

3. mLA + mZB + m£C = 1807
4 mJA £ 90° + mZC = 180°

5. mZA + mzZC = 90°

6. ZA and ZC are complementary

48,  Choose lrom:

A} Triangle Sum Theorem

B) Definition of a right angle

C) Definition of congruent angles
3} Linear Pair Theorem

Reasons:

. Given

2. #48 o

3.  #49

4. Substitution {steps 2 & 3)
5. Subtraction Property

6. #50

E) Definition of complementary angles

49.  Choose fron

A) Triangle Sum Theorem

B) Delinition of a right angle

C) Definition of congruent angles
D} Linear Pair Theorem

£} Delinition of complementary angles

50.  Choose from:

A) Triangle Sum Theorem

B) Definition of a right angle

C) Definition of congruent angles
[} Linear Pair Theorem

E) Definition of complementary angles




AMI Day 11: Geometry

Pairs of Angles Adjacent angles are two angles that lie in the same plane and have a
common vertex and a common side, but no common interior points. A pair of adjacent angles
with noncommon sides that are opposite rays is called a linear pair. Vertical angles are
two nonadjacent angles formed by two intersecting lines,

m Name an angle or an_glepairﬂtl;at Satiéﬁes each condition.

a. two vertical angles jt c
ZEFT and ZGFH are nonadjacent angles D ﬁ
formed by two intersecting lines. They are < ’f‘ [l _E —
vertical angles. B r H
b. two adjacent angles I
ZABD and ZDBE have a common vertex and Y

4 comimon side but no common interior points.
They are adjacent angles.

¢. two supplementary angles
ZEFG and /GFH form a linear pair. The angles are supplementary.
d. two complementary angles

mZCBD + mZDBE = 90. These angles are complementary.

Exercises

Name an angle or angle pair that satisfies each condition.

1. two adjacent angles
2. two acute vertical angles

3. two supplementary adjacent angles R

4. an angle supplementary to /RTS

0’)\
-—l

m 4

4

For Exercises 5-7, use the figure at the right.

3. Identify two obtuse vertical angles.

6. Identify two acute adjacent angles.

7. Identify an angle supplementary to ZTNU.

8. Find the measures of two complementary angles if the difference in their measures is 18.



AMI Day 12: Geometry

Perimeter and Area of Irregular Shapes

Two formulas that are used frequently in mathematics are perimeter and
area of a rectangle.
Perimeter: P = 2/ + 2w

Area: A = fw, where £ is the length and w is the width
However, many figures are combinations of two or more rectangles creating irregular
shapes. To find the area of an irregular shape, it helps to separate the shape into
rectangles, calculate the formula for each rectangle, then find the sum of the areas.

Separate the figure into two rectangles.
A={w
A =9.2 A, =33
=18 =9
18+9 =27
The area of the irregular shape is 27 m2

Exercises

Find the area of each irregular shape.

For Exercises 5-8, find the perimeter of the figures in Exercises 14,

5. 6. 7. 8.

9. Describe the steps you used to find the perimeter in Exercise 1.



AMI Day 13: Geometry

Angle Relationships

For Exercises 1-6, use the figure at the right. Name an
angle or angle pair that satisfies each condition.

1. Name two acute vertical angles.

2. Name two obtuse vertical angles.

3. Name a linear pair.

4. Name two acute adjacent angles.

5. Name an angle complementary to ZEKH.
6. Name an angle supplementary to /FKG.

7. Find the measures of an angle and its complement if one angle measures 24 degrees
more than the other.

8. The measure of the supplement of an angle is 36 less than the measure of the angle.
Find the measures of the angles.

LR

ALGEBRA For Exercises 9-10, use the figure at the right.

A
9. [f mZRTS = 8x + 18, find the value of x so that TR 4 T8, Q
10. If mZPTQ = 3y — 10 and mZQTR =y, find the value of y e I .—
so that ZPTR is a right angle. P T S
Determine whether each statement can be assumed
from the figure. Explain. w

11. /WZU is a right angle.

t

Y‘
.
o §
i

12, ZYZU and ZUZV are supplementary.

13. ZVZU is adjacent to /YZX.



AMI Day 14: Geometry

Angle Relationships

1. LETTERS A sign painter is painting a
large “X”. What are the measures of
angles 1, 2, and 37

2. PAPER Matthew cuts a straight line
segment through a rectangular sheet of
paper. His cuts goes right through a
corner. How are the two angles formed
at that corner related?

Cut

3. PIZZA Ralph has sliced a pizza using
straight line cuts through the center of
the pizza. The slices are not exactly the
same size, Ralph notices that two
adjacent slices are complementary. If
one of the slices has a measure of 2x°
and the other a measure of 3x°, what is
the measure of each angle?

4. GLASS Carlo dropped a piece of stained
glass and the glass shattered. He picked
up the piece shown on the left.

Part of edge Missing Piece

He wanted to find the piece that was
adjoining on the right. What should the
measurement of the angle marked with
a question mark be? How is that angle
related to the angle marked 106°?

5. LAYOUTS A rectangular plaza has a
walking path along its perimeter in
addition to two paths that cut across the
plaza as shown in the figure.

NE
3|
3 A 50°

a. Find the measure of Z1.

b. Find the measure of Z4.

¢. Name a pair of vertical angles in the
figure. What is the measure of £2?



AMI Day 15: Geometry

Two-Dimensional Figures

Name each polygon by its number of sides and then classify it as convex or
concave and regular or irregular.

T3 A [T

[T 1T

H

Find the perimeter or circumference of each figure. Round to the nearest tenth.

4. 20 yd B. inm Bm 6.
18 yd 20yd

2m 3m
40 yd 5m

Find the area of each figure. Round to the nearest tenth,

7. 0T 8. 9.

t2m

5m

COORDINATE GEOMETRY Graph each figure with the given vertices and identify

the figure. Find the perimeter and area of the figure.

10. A3, 5), B(3, 1), C(0, 1)

11. @(--3, 2), R(1, 2), S(1, —4), T(--3, -4)

12. G(-4, 1), H(4, 1), I(0, -2)

13. K(-4, —-2), L(-1, 2), M(8, 2), N(5, —2)
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MataEMATICS REFERENCE SHEET

Parailelogram

Trapezoid
5

Are and Sector

Arc Length = (—l{-

f—-—ﬁ 2= sumlof / A= !‘I(bl + b:) / e \ 360
| A / all sides K 3 / L7 oy
1 &
/—_I_J%J 4= bk M \\J Sector area = (—6‘6)““’2
5 b
Triangle P= sumof Rectangle P= 2]+ 2w
all sides
q 4= 1y
o | '
2 | W
* b%[jl
b H
Cirelo 45° 452 .90°
C= nr %) CZ
0 =
m C=nd
N VL
N
T= 314
Rectanguiar Solid Pyramid B = grea of base
Volume = fwh

Surface area = 2fw + Tk + 2w

{shaded)

Volume = %f’l

siny”=

tan ¢® =

oif

i

Cylinder o Sphere
= slant height ~
Q Vohme= Z2A (7 ‘
! Volume = g2 fo--5 Volume= 4173
K .7 J }
i Y ;
L et
@ \/
Surface area = 2mrh + 212 Surface area = mA + g7 Surface area = 41?2
Area of an equilateral riangle A= fj@ s = length of 2 side
| Distance rate X time
1 Interest principal  rate < time in years

Suri of the angies of a palygon having # sides

(n— 2)180°

Distance between peints on a coordinate plane

d= \j (xz_xl)z + (- 3’1)2

Lt X ot oy
Midpoint (‘2—2—1 RS 5 J
Slope of a nonvertical line (where x; % x,) m= 1-15—"—;1

Ty — X
Slope intercept (where m = slope, b = intercept) y=mx+h
Last term of an arithmeic series ap= a+{n-1)d
Last term of 2 geometric series (where 13> 1) ay = aro!
Quadratic formula x= ;Elﬂ'bziﬁ_@_
il

Area of a square A= 52
Volume of a cube e
Area of a regular polygon 4= % ap  a = apothem, g = perimeter

_ sumof
” all sides




